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1. Answer the following questions (any ten) :
1x10=10

oo fugl aiRd Oed fort (R it waht)

(a) Define ordinal utility.
RIS SR et frat |

(b) What is mixed economy?
i S 59

(c) What is scarcity?
wefifrel 59
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(d)

(e)

(9)

(h)

(i)

0)

(k)

()
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(2)

What is income effect?

Ty Reie e o g2

What is composite demand?

@fere sifzal 62

State the law of demand.
sifzat RfE Swy 1|

Define market.
IET g ferddt |

State one assumption of the law of
supply.
Q@i Rfgg 9ot 56 3 wfsyRet fort |

What is production function?
TeAM Fe 52

Mention one cause of diseconomies of
large scale production.

28 TAIF SR SRSHReR b T o4t |

What is explicit cost?
SIS I 2

Can two indifference curves cut each
other?

Tole fNATer® @R IOl FRI AT ?
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(o)

(P)

(@)

( 3 )

What is variable cost?

siffSaAe u 2

Mention one assumption of perfect
competition.

< sifswifarea @b SfsaEar S T4 |

What is marginal rate of substitution?

sifes dfsrsel 29 692

What is cost function?
G T4 T 2

Define consumer’s surplus.

(Sielq e Al 3ifzm A@t |

2. Answer any five of the following questions :

wore firl apTgd i @it +fiob Sed fordt -

(@)

(b)

(d)

A23/468

2x5=10

Write two characteristics of socialist
economy.

e SRS 7ot @fiEy feri |

State two determinants of demand.

sifEwe o! e S 41|

What is income elasticity of demand?
1771 BT O s e O Sl =
What is fixed cost?

%1 7 2
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(e) What is minimum support price?
Py HES W 52

(f) Write two characteristics of a centrally
planned economy.

FaFe RefEe w4dAifs @b 7ol e
ferit | _

(g9 What do you mean by price rationing?
Price rationing 31l & &1 ?

(h) What is isocost line?
AN-Beoe I @ 52

() What do you mean by shift in supply
curve?

@ @R SaER ARSI & g=i?

() What is long-run cost function?

AN I T 62

3. Answer any four of the following questions :
5x4=20

oo firml ez R @i vifbrR Se fert -
(a) Explain budget line with the help of a
diagram.

oA T2Fe TG @IfoiE I 4 |

(b) Distinguish between market price and
normal price.

Froifes w1 HF I\ w31 A1y e |
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(c) Discuss the factors affecting price
elasticity of demand.

piftie 7 Ffsmeest MR ez
e 4 |

(d) Distinguish between monetary cost and
real cost.

WIS W HWE AFe I ANdw Fryeat |

(e) Why does the demand curve slope
downward towards the right?

sifEm e Gl g famend 212

() Explain the factors affecting shift in the
supply curve.

@S @R Eeeee del RelR o4
TAMFAYR. St 4 |

(g) Explain the assumptions of indifference
curve analysis briefly.

faers @ Romr SfeqRanEz oie
G 4 |

(h) Explain short-run equilibrium of a
firm under perfect competition with
abnormal profit.

of sferifron wesfe TEmE AfoBR e
ZEIEA SIETTS SiF STEeiie @Ay [Ew

RIGIPRIRSS I
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4. Answer any four of the following questions :

10x4=40

were fral g5pizd 1 @i sifRo Sa fod -

(@)

(b)

(c)

(d)

(e)

A23/468

State and explain the law of demand
with the help of a diagram.

sifem RfEG ol s oew =@l gt 4t |

Explain the law of variable proportion
with the help of a diagram.

ARSI Seeite RIGee! oaa = g 4 |

Explain diagramatically the law of
diminishing marginal utility. What are

its assumptions? 7+3=10
FgHNE difde ool RiRGT foua @Ml
g | R QRN 6 62

What do you mean by diseconomies
of large scale production? Explain its
causes. 2+8=10

28 IR SR SN egiel et i 3= ?
3R PRPHR. [T I |

What is least cost combination of
inputs? Discuss how least cost combi-

nation of inputs is attained with the

help of isoquants and isocost lines.
2+8=10

P IRPTAH IS (52 AISLAM @I HIF
TR @R RES P P IJRPTEE
RIS S F91 2™, DAl 4 |
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(f/ What are the characteristics of perfectly
competitive market? Explain long-run
equilibrium of a firm under perfect
competition. 4+6=10

af dfewifromes IwmaR @REpNR (652
af efewifronee @@ AT SIeI
Tzl kgl 3491

(g) Explain the properties of indifference
curve.

faters @R CAREPER gt 41

(h) Discuss the long-run industry supply
curve under perfect competition.

of aferafrer Soi PN @I G
HIEAmAl 41 |
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